Notes Chapter 14: How Do We Use Language? 
You should start reading the chapter and when you reach a section of the chapter associated with a particular section of the notes, then read the notes.  That way, it will be clear for you what I am referring to in the notes.

Remember that for the quizzes and for the final you are responsible for information covered in both the notes and the textbook. 
In page 450, your textbook speaks about speech acts. A speech act is an utterance defined in terms of the intentions of the speaker and the effect that it has on the listener.

In the same section (page 450 on the left) the books talks about performative verbs and felicity conditions.  I want to elaborate on these concepts.Performative Verbs are verbs whose action is accomplished merely by saying them. For example, if you say “I promise” or “I apologize,” you have performed those actions by the simple act of saying them. The following are examples of sentences including performative verbs: “I now pronounce you husband and wife”, “I’m warning you, don’t go in there”.
Austin (1976) used the terms felicitous and infelicitous to describe whether a performative utterance is effective—whether it works. If social conventions are followed and the intentions of the speaker are sincere, a performative utterance will be felicitous. If the speaker do not have the authority to use a certain verb performatively in a certain context—or if the speaker is joking, or acting—the very same utterance will be infelicitous. For instance, the utterance “I now pronounce you husband and wife” would be felicitous if the person who pronounced it (the speaker) has the official social and legal status required to marry people.
In page 454 in the final paragraph on the left side, Sacks, Schegloff and Jefferson’s study (1974) is mentioned. Sacks and colleagues proposed a model of how turn-taking is organized for conversation. Their model has two parts, a 'turn-constructional component' and a 'turn-allocational component'.

In the turn constructional component, a turn may be constructed from various syntactic units that are called turn constructional units. A turn constructional unit may consists of a word, a phrase, a clause, or a sentence. Once an utterance is produced, it is possible for the participants in the conversation (and other observers) to guess which constructional unit the speaker is going to use, and to know when the utterance is complete. The first possible completion point of an utterance is called a 'transition-relevance place', since, when this point is reached, the turn is reallocated and may pass to a new speaker.
The turn allocation component explains how the allocation of the turn takes place. The current speaker may choose the next speaker by, for example, directing a question to one of the participants in the conversation.  If the current speaker do not select the next speaker, the other participants may 'self-select' by beginning utterances of their own, the first person to speak up acquiring the turn. Finally, if the other participants let this opportunity pass, the previous speaker may, if desired, take another turn. In this case the same turn-allocation procedure occurs at the next transition-relevance place, until eventually the turn is transferred to another participant.

In Page 454 in the second paragraph on the right side, your text speaks about Wilson and Wilson’s (2005) work. These authors proposed an oscillator based model to explain why turn taking is smooth, without lengthy pauses or overlaps. According to the authors, the timing of turn taking is based on an oscillatory function of readiness (maximum or minimum) to initiate speech (or likehood of turn taking) in both speakers and listeners. This model is based on the mechanism of entrainment. Entrainment refers to the synchronization of rhythmic behavior in social interaction. Entrainment, in the model, results from the activation of endogenous oscillators in the brain of the interlocutors. The frequency of the oscillators is determined by the syllable rate of the speaker. The production of syllables can be seen as cycles. At the middle of the syllable the readiness to initiate a syllable is at a minimum and the readiness to initiate a syllable peaks half a cycle after a syllabus offset. The interlocutors converge on the same syllable rate, but their production systems are in anti-phase, so that the speaker’s readiness to speak is at minimum when the listener’s is at a maximum and vice versa. 
In Page 455, end of the second paragraph on the left of the page, your textbook mentions Pickering and Garrod’s (2006) ideas. They propose that during conversation, listeners construct predictions of what the speaker is going to say. Speakers do that by using the speech production system (there is evidence of the involvement of covert articulation-activation of the muscles in the tongue and lips-when listening to and comprehending speech). Pickering and Garrod’s proposed that listeners covertly imitate what they hear to determine the speaker’s intended message and then use that information to predict the unfolding utterance. Listeners can predict linguistic representations concerned with meaning, grammar, or sound.  For example, a listener that hears the start of the speaker's utterance, uses covert imitation to predict aspects of the upcoming utterance, for example that the upcoming word will refer to something edible or will begin with a vowel.
In page 457, left part of the page, your book talks about the work of Snedeker & Trueswell (2004). Regarding this study, it is important to clarify what the authors understand by “verb bias” (or lexical bias of the verb). Consider the verbs “warn” and “worry”. They can take direct objects or sentence complements, but “warn” takes more often a direct object, and “worry” takes more often a sentence complement. Listeners tend to interpret a noun phrase following “warn” as a direct object (this is the verb bias based on the frequency of occurrence of the verb in particular linguistic contexts). For example, “I warned you about the dangers of going there”. This results in comprehension delays if that noun phrase turns out to be the subject of a sentence complement, as in “The referees warned the spectators would probably get too rowdy”. This is a temporary ambiguous sentence that generates a garden-path effect (at one moment to commit to one interpretation and discover later that the interpretation was wrong and had to be revised). 

According to Snedeker & Trueswell early in life children use verb bias (not referential information provided by the external environment) to disambiguate sentences (later they use referential information. 
